


Q
I MI
an
&
\gﬁ
") g \E !

°
fif
1725914
i
=
B



M SC AT T 15

4

TARRISEIEIE | (S

T ARBNEMDE



| i SC SR S T |

WNETERAT , SEREZER , NEHE
MfRIERBITE,




Sy P
X ShHREFIRSZE. MIEMN. 757 {ESFRNIY
sERERRYG L. EEEFIKER , FHE—EENIRE

AR{L.

i3]

50 a7 3 A
Fo . 7 = 3 Y,

)




| DGR IWAR AN
> =P KEEER

7NN E7KFE R

AEBGIEEEE

!

TENEH

v
TREF AR fREIE AR fREKF ARG

PR LA TE L HE A E(L

SERHOLEE N (s gosesy

!

MR e ) EEErr




L ASRAES

HEEZEASFIERXRT !
AL =W -seco

d

(A, — 1) =(p,—@)tan F, -sec D,
"4y —A) = (s —p)tan K -sec o,

X : v, =(@a+@)/2
ﬁ(ﬁc
P, =(§DB /2



L ASRAES

HEEZEASFIERXRT !
AL =W -seco

d

(A, — 1) =(p,—@)tan F, -sec D,
"4y —A) = (s —p)tan K -sec o,

. Pu, = (@a+@.) /2
¢IVI2 — (¢B +¢c)/2



L ASRAES

IR RR L FIHER AR |
KRR ZSE(EIES

OP =P — @,
OA=A— A,




A(pa. 1)

B( PB > AB)

Mz((”oz; ioz)

~
AR A ALER AR |,
{(BRMEFIBTER LS RAVIE

ﬁ ' Eo (¢c. Ac)
il )




— T
AZEMUN = Ir B A RRERR AT IE.

A(pa, An)

M2 (po2, A02)

~
MRFEXRE=R
2 . WFEERE , WiA
mir. BREES. ) (vc. Ac)

B( ¥B- AB)




A(pa, An)

N
WFMRE=AA , |

REVREV=RAGEIFEAR

F13ER iﬁ?%ﬁﬂiﬁ!ﬂﬂﬂﬁﬁ‘zoj

M2 (po2, A02)

M1S201J iOl)

(pc, Ac)

B( ¥B- AB)




— b 7k .
AZEMUN = Ir B A RRERR AT IE.

A(pa, An)

M2(¢02; Aoz)

(pc, Ac)

B( ¥B- AB)



P bIEE E5
MEAGRHEM M ITIER | SLiEEAZ , SCIREMBITGE.
(RIET A Z AR R AT
AR, w8

tan o, :%
2 ™M

d=(Y,-Y,)/sine,
RIE=ARRAITEAEYIRE :
d*+D/-D;
2dD,

d?+D;-D;
2dD,

ZP,P,P =arc cos

/P,P,P =arc cos




P REE B
MERCIHEFMNITIER |, FHHIESANuL , SEMEMBITIE.

o, =a, ,+ZP,BP

HRE :
(X . Xl — (YZ _Yl) _(XZ - Xl)tga2

3 tgo, —t9a,
L Y1 =(X - Xl)tgal

EREZRISARRHPRIAEER (X,Y)




i

IRIEFIR (L , I PItRRYE A g | SRS 1k
it AM, LIRS, R A L SENFRRAIAYEE
=D, MMEIRELRITGIE.




il

R Q=@+ A@
FRABEATVAT -
H * A=, +AA

MBEBIESITEAIA :

Aq):i-DcosFm

M

9

1
AL = A -DcosF,
| cos
O M | B =Ry w:%Alsin Oy Py :(p——AZQ) : M P

- XWFEIEFAINE , JLAEERABFRNEEEEHS (L RIEE
- WFmIEERYE , WRETEXEEZES




— b IR |
FIA7SBXENUE=MIIRZ AR K EHIRE
ARYAE , HEMBERS.




— bR

=0z T Ap
A=Az 4 AL

ARfIRERTNA ! {

[Pc(pc- Ac) |

| PA(¢A} j‘A)l

/
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